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eJ0000DOD: 0O000DOO0OOOODOOOODOOOODOO
O000OSchrodinger 00O DOOOOO0OOOOO HOoOooo

OU(r, 1)

oW, 1)
ot

= HU(r 1), i = HU (v t) (2.4)

0000000000000 0000 (POw)000000000000

i (V|O[¥) = (Y|OH|V) — (V|HO|V) = (¥|[O, H]|¥) (2:5)

O00000000000000000 |[A,Bl=AB—-BA|000O0O

eNewtonODOD : 0OOO00DODOODOOODOOHD

. h2
H=-—V? 2.
5o Vi) (2.6)

00000000000000000O 00000 r0000 (25)00

d 1
£<‘I’|”“|‘I’> = %<

OOoo0bobobob0 poob0oooboOobobbooobog

S wlplw) = (@ |VU|w) 2:5)

Ulp|l), (00 p=—ihiV) (2.7)
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4.5 Homework Problems
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